Bright Future Scholarship Program
Academic Session (2023-24)
Grade-1

General Instructions:
¢ There are 3 Sections

@ Vivekananda World School

¢ Section -A Contalns 15 questions In Science, Section - B Contains 20 questions in English , Section ~C Contains 15 questions in

Maths.
*  All questions are Compulsory,
*  There will be no negative marking.

Section: A (Science)
1Q:: The total irrigated area in India is :
A) 35% B) 40% C) 45%
2Q: What is comet mostly made up of?
A Rock B) Ice and Dust C) Metal
3Q: Which is the largest planet in the golar system?
‘A Earth B) Saturn C) Jupiter
4Q: The weight of the human body is mainly madc up of ..........
~A) Bones B) Skin C) Body parts
5Q: How much percent of water is present in the human body?
A) 25% B) 56% C)87%

6Q.In a season, there are flowers all over the trees

D) 50%

D) Poisonous Liquid
D) Neptune

D) Water

D) 45%

. The trees have new green leaves and the days and nights are equal. Identify the season.

A)  Summer season B) Rainy Season C) Spring Season D) Winter Season
7Q: On cloudy days, clouds block the sunshine making the weather
~A) Hot B) Cold C) Pleasant D) Unpleasant
8Q: Name the bird which lays eggs In crow's nest,
A)  Parot B) Pigean C) Sparrow D) Koel
9Q:; Which bird makes the tuk, tuk sound
Dove B) Barbet C) Parrot D)Crow
10Q: What type of teeth does a snake have?
A)  Blunt testh B) sharp teeth C) sharp curved teeth D) No teeth
b [ SRR reduces friction between the surfaces
A)  Powder B) Both of these C) oil D) None of these
12Q: The force that tries to stop an object moving on a surface is called:
B) Magnetic Force C) Gravitational Force D) Al of these

A) Frictional Force
13Q: Which amongst the following surfaces has more friction?
A)  Smooth Surface B) Rough Surface
14Q: Which would be the most helpful to farmers?
A) Rainfall that evaporates quickly
B) Rainfall that runs off the land quickly
C) Rainfall that soaks into the soil slowly
D) Very little rainfall
15Q: Many Utah towns use water from wells for drinking. How does water get into wells?
A) It has to be poured into them from water tanks
B) Rain sinks down through the soil into them
C) Itis pumped by large engines
D) Itis evaporated from the interior of the Earth
Section -B( English)
Directions: Read the following unseen passage and choose the correct answers.

C) Slippery surface

D) Not determined

There are a great many million fish in the sea, but this story is about just one of them, and a very small one at that. Now, this little fish had everything
in the sea to make him contended, but he was not happy. You will laugh when | tell you why he was not. He was unhappy because he was very small,

16Q: How many fish was there in the sea?

A) Thousand fish B) Billion fish C) Million fish
17Q: Where did the fish live?

A) In the pond B) In the sea C) In the river
18Q: Who was unhappy?

A) Fish B) Mouse C) Cat
19Q: Weuse ......... when itis clear from the context which one we mean.

A) The B) A C) An
20Q: The Conjunction................ expresses contract between two statements.

A) Or B) But C) And
21Q: An adjective of quality describes the...... of a noun.

A) Characteristics B) Quantity C) Quality
2Q: do you want to eat?

A)  Which B) Whose C) What
23Q:Canyougivemea............. water?

A) Less B) Few C) Little
24Q: Identify the Verbs in Past Tense from the given options:
Instead of going straight to the room where she worked , she waited.

A)  Worked B) Waited C) Going
25Q: When an Adverb shows how much and to what extent a thing is done , itis known as :

A)  Adverb of degree B) Adverb of frequency C) Adverb of Time
26Q: My father is ............. Forty.

A)  Nearly B) Near C) Almost
27Q: lwas......... frustrated.

A) Total B) Complete C) Totally

D) Lac fish

D) In the tub

D) Lizard

D) Al

D) None of these
D) None of these
D) None

D) None

D) Instead
D) None
Dy Al

D) Any



28Q: Fill in the Blanks with appropriate prepositions: Their business is spread ............

A) Among B) Across
28Q. Till i the blanw with coiiedd conjunction.
Heis poor............. Happy.
A) And B) Or
30Q: Fill in the blank with appropriate Article:
Sheis ............. honest girl.
A) A B) AN
31Q: Use the correct form of verb in the blank:
The temperature ........ a lot yesterday.
A) Fluctuates B) tluctuated
32Q: Fill in the missing punctuation mark: What day Is It today....

the country.

C) Between

C) But

C) The

C) Has Fluctuated

A . B), c)!
33Q: Which of the following marks represent a comma....
A) . B). C):
34Q:Gibe antonym of ‘Long’
A) Far B) smooth C) short
35Q: Which word is synonym for word ‘Big’ in The big, blue house is in the corner.
A) Small B) Huge C) Round
Section-C (Maths)
36Q: 2- Ten rupee coins =
A) 220 B) 715 Cc)¥25
37Q:. When we convert 25 into paise we get
A) 300 paise B) 400 paise C)5U0 paise
38: 15 rupees 10 paise Is written as
A) #15.10 B)Z10.15 C)#101.5
39Q:.24,68_
A) 12 B) 10 C)9
40Q: 8 litre = mi
A) 7000 B) 6000 C) 8000
41Q: A square has sides.
A)3 B) 4 C)5
42Q:15,20,25,30,
A) (30,35) B) (40,45) C) (30,33)
43Q: A has one end point .
A) Line : B) Ray C) Line segment
44Q: 50km= m.( 500 , 50000)
A) 500 B) 50 C) 50000
45Q.. Birthday cap is an example of ( cone , Sphere).
A) Cone B) Triangle C) Sphere
46Q: How many 50-p coins make ¥2
A)2 B) 4 C)6
47Q: 5 copies of the English textbook weighs 625g. What is the mass of one copy of the book?
A) 100g B) 150g C) 125¢
48Q: Place value and face value will be the same in the place.
A) Ones B) Hundreds C) Tens
49Q: is the smallest 4-digit numeral formed by 8,0,6
A) 0678 B) 7068 C) 6078
50Q: How many numbers have exactly 2 digits?
A) 99 B) 98 C)91

D) By

D) None

D) Al

D) Had Fluctuated
D)?

D)’

D) heavy

D) colour

D) ¥None

D) iNone of inese
D) None

D) None

D) None

D)6

D) (42,45)

D) Point

D) 500000

D) Cube

D)8

D) 160g

D) Thousands
D) 7086

D) 90



